
 

Page 1 www.appolotraining.com    PH: 044-24339436, 42867555 
 

 
 
 
 
 
 
 

Test – 1 
Percentage, S.I & C.I, Ratio and Proportion  

 
1. A shopkeeper marks the price of a marker board 15% above the cost price and 

then allows a discount of 15% on the marked price.  What the percentage does he 
gain or lose in the transaction? 
xU filf;fhuu; jfty; gyif xd;iw mjd; mlf;f tpiyiatpl 15% 
mjpfkhff; Fwpj;J> gpwF 15% js;Sgb toq;Ffpwhu;.  mtUf;F fpilf;Fk; ,yhg  
my;yJ el;l rjtPjk; fhz;f? 
Solution:  

Let the C.P of the marker board is ì  100. 

  Marked Price = C.P + 15% of C.P 

        = 100 + 15% of 100 

        = 100 + 15 = ì  115 

Now discount of 15% on marked price 

        / S.P = M.P – 15% of M.P 

        
15

115 115
100

    

        = 115 – 17.25 

        = ì  97.75 

        Loss = 100 – 97.75 

        = ì  2.25 

         = 
2.25

100 2.25%
100

 
  

 
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2. Answer the following questions  
  gpd;tUk; tpdhf;fSf;F tpilasp 

A. Find the principal if the difference between C.I and S.I on it at 15% p.a for 3 
years is ì 1134. 
15% Mz;L tl;bapy;> 3 Mz;LfSf;F fpilj;j jdptl;bf;Fk; $l;Ltl;bf;Fk; 
,ilNaAs;s tpj;jpahrk; ì 1134 vdpy;> mriyf; fhz;f 
Solution: 
  r = 15%  
  n = 3 years, Difference in 3 years = 1134 
  The difference between C.I and S.I for 3 years 

    1134 = 
2

3
100 100

r r
P
   

   
   

 

    1134 = 
2

15 15
3

100 100
P
   

   
   

 

    1134 = 
2

3 315

20 100
P
   
   
   

 

    1134 = 
3 3 63

20 20 20
P
    
    
    

 

    P = 1134 
20 20 20

3 3 63
    

    P = 16000  
   The principal amount is ì 16000.  
 

B. Find the simple interest on ì  5a2b2 for 4ab years at 7b% per annum. 
ì. 5a2b2 f;F 4ab  tUlj;jpw;F 7b% tPjk; jdptl;b fhz;f. 
Solution:  

  Simple Interest = 
100

pnr
      

    = 
2 25 4 7

100

a b ab b 
 

    = 
3 4140

100

a b
 

    = 
3 47

5

a b
 

  simple interest = ì 
3 47

5

a b
 

  
 

P = 5a2 b2 
n = 4ab 
r = 7b 
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3. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 

A. At present, Thenmozhi’s age is 5 years more than that of Murali’s age.  Five 
years ago, the ratio of Thenmozhi’s age to Murali’s age was 3 : 2 Find their 
present ages. 
Njd; nkhopapd; jw;Nghija taJ Kuspapd; taijtpl 5 Mz;Lfs; mjpfk; 
MFk;.  5 Mz;LfSf;F Kd; Njd;nkhopf;Fk; Kuspf;Fk; ,ilNa ,Ue;j taJ 
tpfpjk; 3:2 vdpy; mtu;fspd; jw;Nghija taJ vd;d? 
Solution: 
  The ratio of Thenmozhi's age to Murali's age = 3 : 2  
     x : x – 5 = 3 : 2  
     2x = 3(x – 5)  
     2x = 3x – 15  
    3x – 2x = 15  
     x = 15 
  The present age of Murali = 15 years  
  The present age of Thenmozhi = x + 5 
       = 15 + 5 
       = 20 years  
 

B. A camp had provisions for 490 soldiers for 65 days. After 15 days, more 
soldiers arrived and the remaining provisions lasted for 35 days. How many 
soldiers joined the camp? 
xU Kfhkpy; 65 ehs;fSf;F 490 tPuu;fSf;Fg;  NghJkhd kspifg; nghUs;fs; 
,Ue;jd.  15 ehs;fSf;Fg; gpwF NkYk; gy tPuu;fs; Kfhkpw;F te;jjhy;> 
kPjkpUe;j kspifg; nghUs;fshdJ 35 ehs;fSf;F kl;LNk NghJkhdjhf 
,Ue;jJ vdpy;> vj;jid tPuu;fs; Kfhkpy; Nru;e;jdu;? 
Solution: 

  Now as the soldiers increases food last for less days 
  It is inverse proportion  
  The proportion is (490 + x) : 490 : : 50 :  35  
  Product of the extremes = Product of the means  
  (490 + x) × 35 = 490 × 50  
  (490 + x) = (490 × 50) / 35  
  x = 700 – 490  
  x = 210  
  210 soldiers joined the camp. 
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4. The population of a village is 8000. Out of these, 80% are literate and of these 
literate people, 40% are women. Find the percentage of literate women to the total 
population? 
xU fpuhkj;jpd; kf;fs;njhif 8000. ,th;fspy; 80% Ngh; fy;tpawpT ngw;wth;fs;. 
mjpy; 40% ngz;fs; vdpy;> fy;tpawpT ngw;w ngz;fspd; vz;zpf;if> nkhj;j 
kf;fs;njhifapy; vj;jid rjtPjk;.  
Solution:  
 The population of a village is 8000 
 Literate percentage = 80%  
 No. of literate people = 80% × 8000  

 No. of literate people = 
80

100
  8000 = 6400  

 out of these 80%, 40% are women  

 So, No. of literate women = 40% × 6400 = 
40

100
  6400 = 2560  

 The percentage of the number of literate woman to the total population 

=
2560

100
8000

  

     = 
8

25
× 100 

     = 32%  
The percentage of the number of literate woman to the total population = 32% 
  

15 Mark  
1. Answer the following questions  
  gpd;tUk; tpdhf;fSf;F tpilasp 

A.  A shopkeeper gives two successive discounts on an article whose marked 
price is ì. 180 and selling price is ì. 108.  Find the first discount percentage if the 
second discount is 25%.  
ì. 180 If; Fwpj;j tpiyahfTk;> ì. 108 I tpw;gid tpiyahfTk; nfhz;l xU 
nghUSf;F filf;fhuu; ,uz;Lj; njhlu; js;Sgbfis mspf;fpwhu;.  
,uz;lhtJ js;Sgb 25% vdpy;> Kjy; js;Sgbr; rjtPjj;ijf; fhz;f. 
Solution: 
  Marked price = ì 180  
  Selling price =  ì 108 and  
 The second discount = 25% 
 Let x be the first discount  
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   S.P = 
25

1 1 .
100 100

x
M P

   
     

   
 

   108 = 
25

1 1 180
100 100

x   
     

   
 

   108 = 
3

1 180
100 4

x   
    

   
 

   108 = 1 135
100

x 
  

 
 

   
108

1
100 135

x
    

     
4

1
100 5

x
   

   
4

1
100 5

x
    

   
1

100 5

x
  

   
100

20
5

x    

  The first discount = 20%  
 
B. A man bought an article on 30% discount and sold it 40% more than the 

marked price.  Find the profit made by him. 
xU nghUis 30% js;Sgbapy; thq;fp> xU egu; mjidf; Fwpj;j tpiyf;F 
Nky; 40% $Ljyhf tpw;whu; vdpy;> mtupd; ,yhgr; rjtPjk; fhz;f. 
Solution:  
  Let the marked price = Rs. 100  
  Man bought is at 30 percent discount  
 Therefore 
  CP of article for man = 100 – 30% of 100 = 100 – 30 = Rs. 70 
  Man sold it at 40% more than marked price  
  SP of article for = 100 + 40% of 100 = 100 + 40 Rs. 140  
  Profit = SP – CP = 140 – 70 = Rs. 70 
 

  Profit percentage = 
Pr 70

100
70

ofit

CP
  100 = 100% 

  Hence, the man made a profit of 100%  
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2. Answer the following questions  
 gpd;tUk; tpdhf;fSf;F tpilasp 

 
A. Find the compound interest for 2½ years on ì. 4000 at 10%p.a if the interest is 

compounded yearly. 
ì. 4000 f;F 10% Mz;L tl;bapy;> Mz;Lf;nfhU Kiw tl;bf; fzf;fpLk; 
Kiwapy; 2½ Mz;LfSf;F> fpilf;Fk; $l;L tl;biaf; fhz;f. 
Solution:  

  P = ì 4000, r = 10%, n = 
1

2
2

 years which is of the form n = 
b

a
c

 

  Amount = 1 1
100 100

a
b

r
r cP

 
  

   
   

 

 

   = 4000 
2

1
10

10 21 1
100 100

 
  

   
   

 

 

   = 4000  
2

110 5
1

100 100

   
   

   
 

   = 4000 
11 11 21

10 10 20
    

   = 2 × 11 × 11 × 21 
   A = ì 5082 
   C.I = A – P  
   = 5082 – 4000 = 1082 
  C.I = ì 1082  
  

B. A principal becomes  ì. 10,050 at the rate of 10% in 5 years. Find the principal. 
Xu; mry; Mz;Lf;F 10% tl;b tPjj;jpy; 5 Mz;Lfspy; ì. 10>050 Mf cau;e;jJ 
vdpy;> mriyf; fhz;f. 
Solution: 
  A = ì 10,050  
  n = 5 years  
  r = 10%  
  P = ?  
For calculating principal with the given data, we proceed as follows.  
We know that,  
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   I = 
100

Pnr
 

   A = P + I 

   A = P + 
100

Pnr
 

 Therefore, 10,050 = 
10 5

1
100

P
 

 
 

 

    = 
50

1
100

P
 
 

 
 

    = 
150

100
P
 
 
 

 

    = 
3

2
P
 
 
 

 

 Therefore, P = 10,050 
2

3
  = 6700 

 Hence, Principal = ì  6700. 
 

3.  Vani, her father and her grand father have an average age of 53. One-half of her 
grand father’s age plus one-third of her father’s age plus one fourth of Vani’s age 
is 65. If 4 years ago Vani’s grandfather was four times as old as Vani then how old 
are they all now ?  
jhj;jh> je;ij kw;Wk; thzp Mfpa %tupd; ruhrup taJ 53.  jhj;jhtpd; tajpy; 
ghjp> je;ijapd; tajpy; %d;wpy; xU gq;F kw;Wk; thzpapd; tajpy; ehd;fpy; xU 
gq;F Mfpatw;wpd; $Ljy; 65.  ehd;F Mz;LfSf;F Kd; jhj;jhtpd; taJ 
thzpapd; taijg;Nghy; ehd;F klq;F vdpy; %tupd; jw;Nghija taijf; 
fhz;f. 

 Solution:  

  Let the present ages of Vani, her father and her grand father by x, y, z  
  respectively.  

    Given 53
3

x y z 
  

     x + y + z = 159       (1)  

     65
2 3 4

z y x
         (2)  

     6z + 4y + 3x = 780  
     (z – 4) = 4 (x – 4)  
     4x – z = 12        (3)  
  Consider (1) and (3)  
    x + y + z = 159  
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    4x      - z =    12  
   (1) + (3) 5x      + y = 171       (4)  
  
  Consider (2) and (3)  
            3x + 4y + 6z = 780 
    (3) × (6)   24x         - 6z = 72      (5) 
  (2) + (5)    27x    + 4y    = 852      (6) 
   
  Consider (4) and (6)  
   (4) × 4 =   20x + 4y = 684 
   (6) × 1       27x + 4y = 852      (7) 
   (7) – (6)           - 7x    = -168 

      x = 
168

24
7

  

  Substituting    x = 24 in (4)  
    5(24) + y = 171  
     y = 171 – 120 = 51 
  Substituting x = 24, y = 51 in (1)  
    24 + 51 + z = 159  
          z = 159 – 75 = 84 
  Present age of Vani = 24 years  
  Present age of her father = 51 years  
  Present age of her grandfather = 84 years  
 

4. Answer the following questions  
 gpd;tUk; tpdhf;fSf;F tpilasp 

 

A. Find the rate of compound interest at which a principal becomes 1.69 times 
itself in 2 years. 
Xh; mryhdJ> $l;Ltl;b Kiwapy; 2 Mz;Lfspy; mijg;Nghd;W 1.69 klq;F 
MfpwJ vdpy;> tl;b tPjj;ijf; fhz;f.  
Solution:  
Let P be the principal  
By the given data, the principal becomes 1.69 times itself after 2 years.  

           A =  
2

1
100

r
P
 
 

 
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    1.69 P = 
2

1
100

r
P
 
 

 
 

    1.69 = 
2

1
100

r 
 

 
 

    (1.3)2 = 
2

1
100

r 
 

 
 

    1
100

r
 = 1.3 

    1.3 1
100

r
   

    0.3
100

r
  

    r = 30%  
  The rate of interest = 30%  
     

B. Vaidegi sold two sarees for ₹2200 each. On one she gains 10% and on the other 
she loses 12%. Calculate her gain or loss percentage in the sales. 
itNjfp> ,U Nriyfis jyh ì 2200 ,f;F tpw;whs;. xd;wpd; kPJ 10% 
,yhgj;ijAk; kw;nwhd;wpd; kPJ 12% el;lj;ijAk; mile;jhs; vdpy;> 
Nriyfis tpw;wjpy; mtspd; ,yhgk; my;yJ el;lr; rjtPjj;ijf; fhz;f.  
Solution: 

Let x and y be the cost price of the two sarees. 

Saree I   Saree II 

Gain = 10%   Loss = 12% 

10%of 2200x x        12%of 2200y y   

10
2200

100
 x x            

12
2200

100
y y      

110
2200

100
x    

88
2200

100

y
  

11
2200

10
x                

22
2200

25

y
  

2200 10

11
x


           

2200 25

22
y


  

x = ì  2000  y = ì  2500 

Total cost price of both sarees = ì  2000 + ì  2500 

        = ì  4500 
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 But total selling price = 2 × 2200 

           = ì  4400 

 / Loss = C.P – S.P 

    = 4500 – 4400 = ì  100 

 Loss % = 
100

100
4500

  

   
20 2

2 %
9 9

   

/ The loss percentage of the sales 
2

2 %
9

  

 


